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Minitab Assignment 8
In this assignment you will use Minitab to construct confidence intervals and do hypothesis tests for the difference in two population means, (1 – (2 (using both the two-sample t-test and the paired difference t-test)
Retrieve the worksheet and start Minitab by double clicking on the worksheet file Pulse2.mtw in the Math 11/Minitab Data folder on the Mathsci fileserver. 
To construct a confidence interval and if there is a difference in the mean body temperatures of males and females, enter the following:

Stat>Basic Statistics>2-Sample t; choose “Both samples are in one column”; choose for “Samples” “C4  BodTemp”; and for “Sample IDs” “C2  Sex”; click on Options “Assume equal variances” should not be checked, make “Confidence Level” 95.0, “Hypothesized difference” 0, and “Alternative hypothesis”: “≠”; OK, OK.

**** Repeat the above but use for “Sample IDs”, Smoke, to compare the mean body temperatures of smokers and non-smokers.

The next two tests are to determine if there is an increase of at least 12 beats per minutes in the pulse rate after the brisk walk.
First the two sample t-test.

Stat>Basic Statistics>2-Sample t; choose “Each sample in its own column”; choose for “Sample 1” “C6  Pulse2”; and for “Sample 2” “C5  Pulse1” [Note that we are putting Pulse2 first so that the difference will be positive]; click on Options, “Assume equal variances” should not be checked, make “Confidence Level” 95.0, “Hypothesize difference” 12, and “Alternative hypothesis”: “>”; OK, OK.

Now the paired difference t-test.

Stat>Basic Statistics>Paired t; choose “Each sample in a column”; choose for “Sample 1” “C6  Pulse2”; and for “Sample 2” “C5  Pulse1” ; click on the Options button and make “Confidence Level” 95.0, “Hypothesized difference” 12, and “Alternative hypothesis”: “>”; OK, OK.

Print the session window only. After printing, exit Minitab.

I.
For the difference in the mean body temperature between males and females.


Give the 95% confidence interval for the difference in means,  ( female – ( male


________________________________

Based on the confidence interval does it appear that there is a difference in the mean body temperature for females and males? Why?


Complete the hypothesis test to see if there is a difference in the mean body temperature for females and males.
H0: ( female – ( male = 0
H1:   _____________________________


What are the sample means for the female and the male groups and the difference in sample means?
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What is the value of the test statistic, t, the degrees of freedom and the P-value computed by Minitab?



t = _______    df = ______   P-value = _______


What conclusion would you draw? (Use the 5% level of significance)

II.
For the difference in the mean body temperature between smokers (Yes) and nonsmokers (No).


Give the 95% confidence interval for the difference in means,  ( No – ( Yes


________________________________


Based on the confidence interval does it appear that there is a difference in the mean body temperature for nonsmokers and smokers? Why?


Complete the hypothesis test to determine if the evidence is sufficient to conclude that there is a difference in the mean body temperature of non-smokers and smokers..

H0: ( No – ( Yes = 0
H1:   _____________________________


What are the sample means for the non-smokers and smokers and what the estimate for the difference?
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What is the value of the test statistic, t, the degrees of freedom and the P-value computed by Minitab?



t = _______    df = ______   P-value = _______


What conclusion would you draw? (Use the 5% level of significance)

III.
For the tests to determine if there is an increase of more than 12 in pulse rate after exercise.

A.
What is the P-value that Minitab computed for the two-sample t-test?
__________


Based on this test what conclusion would you draw?

B.
What is the P-value that Minitab computed for the paired difference t-test?
__________

Based on this test what conclusion would you draw?

C.
For this set of data which of the two tests is the most appropriate and why?
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